Zdena Riečanová On an Abstract Formulation of Regularity

Matematický časopis, Vol. 21 (1971), No. 2, 117--123

Persistent URL: http://dml.cz/dmlcz/126426

Terms of use:

© Mathematical Institute of the Slovak Academy of Sciences, 1971

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

ON AN ABSTRACT FORMULATION OF REGULARITY

ZDENA RIEČANOVÁ, Bratislava

There is a general concept of regularity presented in book [2] and in paper [5] including many known cases in topological spaces (differences between concepts presented in [2] and [5] are only formal). On the other hand it was shown in [4], [6] and [7] that many problems of measure theory can be formulated only by means of systems of sets ,,of small measure". Hence in such a theory we have no measure, we have only a sequence $\{\mathcal{M}_n\}_{n=0}^{\infty}$ of systems of measurable sets satisfying some axioms.

The purpose of the present article is to construct a common generalization of both theories, since the regularity in [4] was studied only in a very special case.

Let X, C, U, S and $\{\mathscr{N}_n\}_{n=0}^{\infty}$ satisfy the following assumptions: X is a nonempty set of elements, C, U, S are systems of subets of X with the following properties:

$$V_1 \ \emptyset \in \mathbf{C}, \ \emptyset \in \mathbf{U}$$

V₂ If $U_n \in U$ for n = 1, 2, ..., then also $\bigcup_{n=1}^{\infty} U_n \in U$.

V₃ If $C_1, C_2 \in \mathbf{C}$, then $C_1 \cup C_2 \in \mathbf{C}$.

V₄ $U - C \in U$, $C - U \in C$ for any $U \in U$, $C \in C$.

V₅ To any $C \in \mathbf{C}$ there are $U \in \mathbf{U}$, $D \in \mathbf{C}$ such that $C \subset U \subset D$.

 $V_6 \ \mathbf{U} \subset \mathbf{S}(\mathbf{C}) = \mathbf{S}$, where $\mathbf{S}(\mathbf{C})$ is the σ -ring generated by \mathbf{C} .

 $\{\mathcal{N}_n\}_{n=0}^{\infty}$ is a sequence of subsystems of the system **S** with the following properties:

(i) $\emptyset \in \mathcal{N}_n$ for $n = 0, 1, 2, ...; E, F \in \mathcal{N}_0 \Rightarrow E \cup F \in \mathcal{N}_0$.

(ii) To any positive integer *n* there exists a sequence $\{k_i\}_{i=1}^{\infty}$ of positive integers such that $\bigcup_{i=1}^{\infty} E_i \in \mathcal{N}_n$, whenever $E_i \in \mathcal{N}_{k_i}$ (i = 1, 2, ...).

(iii) If $\{E_i\}_{i=1}^{\infty}$ is a sequence of sets of **S**, $E_{i+1} \subset E_i$ $(i = 1, 2, ...) \bigcap_{i=1}^{\infty} E_i = \emptyset$

and $E_t \in \mathcal{N}_0$ for some positive integer t, then to any positive integer n there is a positive integer m such that $E_m \in \mathcal{N}_n$.

(iv) If $E \in \mathcal{N}_n$, $F \subset E$, $F \in S$, then $F \in \mathcal{N}_n$ (n = 0, 1, 2, ...).

(v) $C \in \mathcal{N}_0$ for every $C \in \mathbf{C}$.

Note 1. From the axioms $V_1 - V_6$ the following properties of **C** and **U** follow:

1. If
$$C_i \in \mathbf{C}$$
 $(i = 1, 2, ...)$, then $\bigcap_{i=1}^{\infty} C_i \in \mathbf{C}$ (see [5] Lemma 1).

2. If $U_1, U_2 \in \mathbf{U}$, then $U_1 \cap U_2 \in \mathbf{U}$. Endeed, if $U_1, U_2 \in \mathbf{U}$, then according to V_6 we have $U_1 \cap U_2 \subset \bigcup_{n=1}^{\infty} C_n$, where $C_n \in \mathbf{C}$ (n = 1, 2, ...). According to V_5 there are sets $V_n \in \mathbf{U}$, $D_n \in \mathbf{C}$ such that $C_n \subset V_n \subset D_n$. According to V_4 we have $U_2 \cap V_n = V_n - (D_n - U_2) \in \mathbf{U}$ and also $U_1 \cap U_2 \cap V_n = (V_n \cap U_2) - (D_n - U_1) \in \mathbf{U}$. Hence $U_1 \cap U_2 = \bigcup_{n=1}^{\infty} (U_1 \cap U_2 \cap V_n) \in \mathbf{U}$ according to V_2 . 3. To any $E \in \mathbf{S}$ there is a set $U \in \mathbf{U}$ such that $E \subset U$ (see [5] Lemma 3). 4. To any $E \in \mathbf{S}$ there are $A_i \in \mathbf{S}$, $C_i \in \mathbf{C}$ (i = 1, 2, ...) such that $A_i \subset A_{i+1}$, $A_i \subset C_i$ $(i = 1, 2, ...), E = \bigcup_{i=1}^{\infty} A_i$ (see [5] Lemma 2).

We shall use also the following consequence of (i) and (ii):

(vi) To any positive integer *n* there are positive integers k, m such that $M \in \mathcal{N}_m, K \in \mathcal{N}_k$ implies $M \cup K \in \mathcal{N}_n$.

Definition 1. Put

 $\mathbf{R}_1 = \{E \in \mathbf{S}: \text{ to any positive integer } n \text{ there is a set } U \in \mathbf{U} \text{ such that } E \subset U, U - E \in \mathcal{N}_n\},\$

 $\mathbf{R}_2 = \{ E \in \mathbf{S} : \text{ to any positive integer } n \text{ there is a set } C \in \mathbf{C} \text{ such that } C \subset E, E - C \in \mathcal{N}_n \},$

 $\mathbf{R}_3 = \{ E \in \mathbf{S} : \text{ there are sets } C_k \in \mathbf{C}, \ C_k \subset E \ (k = 1, 2, \ldots) \text{ such that} \\ \bigcup_{k=1}^{\infty} C_k \notin \mathcal{N}_0 \}.$

Definition 2. Put $\mathbf{P}_1 = \mathbf{R}_1 \cup (\mathbf{S} - \mathcal{N}_0), \mathbf{P}_2 = \mathbf{R}_2 \cup \mathbf{R}_3, \mathbf{P} = \mathbf{P}_1 \cap \mathbf{P}_2$.

Note 2. Evidently $E \in \mathbf{R}_3 \Rightarrow E \notin \mathcal{N}_0$. Hence $E \in \mathbf{P}_2$, $E \in \mathcal{N}_0$ implies $E \in \mathbf{R}_2$. According to (i) we have $\mathbf{C} \subset \mathbf{P}_2$, $\mathbf{U} \subset \mathbf{P}_1$. At the end of the article examples are given of systems $\{\mathcal{N}_n\}_{n=0}^{\infty}$ as well as \mathbf{P}_1 , \mathbf{P}_2 and \mathbf{P} .

Lemma 1. If $E_i \in \mathbf{P}_2$, $E_i \subset E_{i+1}$ (i = 1, 2, ...) then $\bigcup_{i=1}^{\infty} E_i \in \mathbf{P}_2$.

Proof. 1. Assume that $E_i \in \mathbf{R}_2(i = 1, 2, ...)$. Let *n* be any positive integer and let *k*, *m* be the positive integers fulfilling the property (vi). To *k* there exists a sequence $\{k_i\}_{i=1}^{\infty}$ of positive integers with the property (ii). To k_i and the set E_i there is a set $C_i \in \mathbf{C}$ such that $C_i \subset E_i$, $E_i - C_i \in \mathcal{N}_{k_i}$ (i = 1, 2, ...). According to (ii) we have $\bigcup_{i=1}^{\infty} (E_i - C_i) \in \mathcal{N}_k$. Further $\left(\bigcup_{i=1}^{\infty} E_i\right) - \left(\bigcup_{i=1}^{\infty} C_i\right) \subset \bigcup_{i=1}^{\infty} (E_i - C_i)$ and hence $\left(\bigcup_{i=1}^{\infty} E_i\right) - \left(\bigcup_{i=1}^{\infty} C_i\right) \in \mathcal{N}_k$ according to (iv). If $\bigcup_{i=1}^{\infty} C_i \notin \mathcal{N}_0$, then $\bigcup_{i=1}^{\infty} E_i \in \mathbf{R}_3 \subset \mathbf{P}_2$. If $\bigcup_{i=1}^{\infty} C_i \in \mathcal{N}_0$, then according to (iii) to the sequence $\left\{\left(\bigcup_{i=1}^{\infty} C_i\right) - \left(\bigcup_{i=1}^k C_i\right)\right\}_{k=1}^{\infty}$ and to the positive integer *m* there is a positive integer *t* such that $\left(\bigcup_{i=1}^{\infty} C_i\right) - \left(\bigcup_{i=1}^t C_i\right) \notin \mathcal{N}_m$. Hence according to (vi) we have $\left(\bigcup_{i=1}^{\infty} E_i\right) - \left(\bigcup_{i=1}^t C_i\right) = \left[\left(\bigcup_{i=1}^{\infty} E_i\right) - \left(\bigcup_{i=1}^{\infty} C_i\right)\right] \cup \left[\left(\bigcup_{i=1}^{\infty} C_i\right) - \left(\bigcup_{i=1}^t C_i\right)\right] \in \mathcal{N}_n$, i. e. $\bigcup_{i=1}^{\infty} E_i \in \mathbf{R}_2 \subset \mathbf{P}_2$. 2. If $E_j \notin \mathbf{R}_2$ for some positive integer *j*, then $E_j \in \mathbf{R}_3$ and there are sets $C_k \in \mathbf{C}, C_k \subset E_j \ (k = 1, 2, ...)$ such that $\bigcup_{k=1}^{\infty} C_k \notin \mathcal{N}_0$. Then evidently $\bigcup_{i=1}^{\infty} E_i \in \mathbf{R}_3$

i. e.
$$\bigcup_{i=1}^{\infty} E_i \in \mathbf{P}_2$$

Lemma 2. Let $C \in C$. Then the system $N = \{B \in P : B \subset C\}$ is monotone.

Proof. According to (v) and (iv) we have $\mathbf{N} \subset \mathcal{N}_0 \cap \mathbf{P} = \mathbf{R}_1 \cap \mathbf{R}_2$. Let $\{A_i\}_{i=1}^{\infty}, \{B_i\}_{i=1}^{\infty}$ be sequences of sets of \mathbf{N} and let $A_i \subset A_{i+1}, B_i \supset B_{i+1}$ (i = 1, 2, ...). Then evidently $\bigcup_{i=1}^{\infty} A_i \subset C$, $\bigcap_{i=1}^{\infty} B_i \subset C$. Let *n* be any positive integer and let $\{k_i\}_{k=1}^{\infty}$ be a sequence of positive integers with the property (ii). To any *i* the exists sets $U_i \in \mathbf{U}, C_i \in \mathbf{C}$ such that

(1) $U_i \supset A_i, B_i \supset C_i, U_i - A_i \in \mathcal{N}_{k_i}, B_i - C_i \in \mathcal{N}_{k_i}.$

We have $\bigcup_{i=1}^{\infty} U_i \in U$ according to V_2 and $\bigcap_{i=1}^{\infty} C_i \in C$ according to 1 of note 1. From (1) and (ii) it follows

(2) $\bigcup_{i=1}^{\infty} U_i \supset \bigcup_{i=1}^{\infty} A_i, \left(\bigcup_{i=1}^{\infty} U_i\right) - \left(\bigcup_{i=1}^{\infty} A_i\right) \subset \bigcup_{i=1}^{\infty} (U_i - A_i) \in \mathcal{N}_n \text{ and hence}$ $\bigcup_{i=1}^{\infty} A_i \in \mathbf{P}_1,$ (3) $\bigcap_{i=1}^{\infty} B_i \supset \bigcap_{i=1}^{\infty} C_i, \left(\bigcap_{i=1}^{\infty} B_i\right) - \left(\bigcap_{i=1}^{\infty} C_i\right) \subset \bigcup_{i=1}^{\infty} (B_i - C_i) \in \mathcal{N}_n \text{ and hence}$ $\bigcap_{i=1}^{\infty} B_i \in \mathbf{P}_2.$

To an arbitrarily chosen positive integer *n* there are positive integers *k*, *m* with the property (vi). According to (iii) to the number *m* and to the sequence $\left\{B_{j}-\left(\bigcap_{i=1}^{\infty}B_{i}\right)\right\}_{j=1}^{\infty}$ there exists a positive integer such that $B_{t}-\left(\bigcap_{i=1}^{\infty}B_{i}\right)\in\mathcal{N}_{m}$. To the number *k* there exists a set $U \in \mathbf{U}$ such that $U \supset B_{t}, U - B_{t} \in \mathcal{N}_{k}$. Hence according to (vi) we have

$$U \supset \bigcap_{i=1}^{\infty} B_i, \ U - \left(\bigcap_{i=1}^{\infty} B_i\right) \subset (U - B_i) \cup \left[B_t - \left(\bigcap_{i=1}^{\infty} B_i\right)\right] \in \mathcal{N}_n$$

and therefore $\bigcap_{i=1}^{n} B_i \in \mathbf{P}_1$; $\bigcup_{i=1}^{n} A_i \in \mathbf{P}_2$ according to Lemma 1.

Lemma 3. $P \cap \mathcal{N}_0$ is a ring.

Proof. Let *n* be any positive integer. Choose *m*, *k* according to (vi). To the number *k* and a set $E \in \mathbf{P} \cap \mathcal{N}_0$ there are according to the definition of **P** sets $C \in \mathbf{C}$, $U \in \mathbf{U}$ such that $C \subset E \subset U$, $E - C \in \mathcal{N}_k$, $U - E \in \mathcal{N}_k$. Similarly to a set $F \in \mathbf{P} \cap \mathcal{N}_0$ there are sets $D \in \mathbf{C}$, $V \in \mathbf{U}$ such that $D \subset F \subset V$, $F - D \in \mathcal{N}_m$, $V - F \in \mathcal{N}_m$.

Hence we have $U \cup V \supset E \cup F \supset C \cup D$, $(U \cup V) - (E \cup F) \subset (U - E) \cup \cup (V - F) \in \mathcal{N}_n$, $(E \cup F) - (C \cup D) \subset (E - C) \cup (F - D) \in \mathcal{N}_n$. Moreover $U \cup V \in U$ according to V_2 and $C \cup D \in C$ according to V_3 . Hence $E \cup F \in P$ according to (iv) and the definition of P.

Further $U - D \in U$, $C - V \in C$ according to V₄. Evidently $U - D \supset D = E - F \supset C - V$. Further $(U - D) - (E - F) \subseteq (U - E) \cup (F - D) \in \mathcal{N}_n$, $(E - F) - (C - V) \subseteq (E - C) \cup (V - F) \in \mathcal{N}_n$. Hence $E - F \in \mathbf{P}$, according to (iv).

Definition 3. Put $\mathbf{Y} = \{U \in \mathbf{U}: \text{ there is } C \in \mathbf{C} \text{ such that } U \subset C\}.$

Theorem 1. $C \subset P_1$ if and only if $V \subset P_2$.

Proof 1. Let $\mathbf{C} \subset \mathbf{P}_1$. Let $U \in \mathbf{V}$ be an arbitrary set. Then there is a set $C \in \mathbf{C}$ such that $U \subset C$. We have $C - U \in \mathbf{C}$ according to V_4 and $C - U \in \mathbf{P}_1$ according to the assumption. Let n be any positive integer. Then there is $V \in \mathbf{U}, V \supset C - U, V - (C - U) \in \mathcal{N}_n$. We have $C - V \in \mathbf{C}$ according to V_4 and $C - V \subset U, U - (C - V) = U \cap V \subset V - (C - U)$. Hence $U - (C - V) \in \mathcal{N}_n$ and $\mathbf{U} \subset \mathbf{P}_2$ according to the definition of \mathbf{P}_2 .

2. Let $\mathbf{V} \subset \mathbf{P}_2$. Let $C \in \mathbf{C}$ be an arbitrary set. According to V_5 there are $U \in \mathbf{U}, D \in \mathbf{C}$ such that $C \subset U \subset D$. $U - C \in \mathbf{U}$ according to V_4 . Evidently $U - C \subset D$ and hence $U - C \in \mathbf{P}_2$. To any positive integer *n* there is $C_1 \in \mathbf{C}$ such that $C_1 \subset U - C$, $(U - C) - C_1 \in \mathcal{N}_n$. Further $C = U - (U - C) \subset C = U - C_1$, $(U - C_1) - C = (U - C) - C_1 \in \mathcal{N}_n$. We have $\mathbf{C} \subset \mathbf{P}_1$ since $U - C_1 \in \mathbf{U}$ according to V_4 .

Theorem 2. Let X, C, U, S satisfy the conditions $V_1 - V_6$ and $\{N_n\}_{n=0}^{\infty}$ satisfy the condition (i)-(v). Then P = S if and only if one of the following conditions is satisfied:

A $\boldsymbol{C} \subset \boldsymbol{P}_1$,

B $\mathbf{V} \subset \mathbf{P}_2$.

Proof. The necessity of the conditions A, B is obvious. With respect to Theorem 1 is suffices to prove that A is sufficient. Hence let $\mathbf{C} \subset \mathbf{P}_1$.

Let $A \in S$ and there exist $C \in C$ such that $A \subset C$. Put $\mathbf{N} = \{B \in \mathbf{P} : B \subset C\}$. Then evidently $\mathbf{C} \subset \mathbf{P}$ hence $\mathbf{C} \cap C \subset \mathbf{N}$ (where $\mathbf{C} \cap C$ is the system of all all $E \in S$ such that $E = D \cap C$ for some $D \in \mathbf{C}$). \mathbf{N} is a σ -ring according to Lemmas 2 and 3. Hence $\mathbf{N} \supset S(\mathbf{C} \cap C) = S(\mathbf{C}) \cap C = S \cap C$. Therefore $A \in \mathbf{N}$ since $A = A \cap C \in S \cap C$.

Let $E \in \mathbf{S}$ be any set. According to 4 of Note 1 there are sets $A_i \in \mathbf{S}$, $C_i \in \mathbf{C}$, $A_i \subset C_i$, $A_i \subset A_{i+1}$ (i = 1, 2, ...) such that $E = \bigcup_{i=1}^{\infty} A_i$. Hence $A_i \in \mathbf{P}$ (i = 1, 2, ...) and $E \in \mathbf{P}_2$ according to Lemma 1. If $E \notin \mathcal{N}_0$, then $E \in \mathbf{P}_1$. If $E \in \mathcal{N}_0$, then $E = \bigcup_{i=1}^{\infty} A_i \in \mathbf{P}_1$ can be proved similarly as in the Lemma 2.

Theorem 3. Let X, C, U, S satisfy the conditions V_1-V_6 and

V₇: To any $C \in \mathbf{C}$ there are $U_k \in \mathbf{U}$ (k = 1, 2, ...) such that $C = \bigcap_{k=1}^{\infty} U_k$. Let $\{N_u\}_{n=0}^{\infty}$ satisfy the conditions (i)-(v). Then $\mathbf{P} = \mathbf{S}$.

Proof. Let $C \in \mathbf{C}$ be an arbitary set. There are $U_k \in \mathbf{U}$ (k = 1, 2, ...)such that $C = \bigcap_{k=1}^{\infty} U_k$. According to V_5 there are sets $V \in \mathbf{U}$, $D \in \mathbf{C}$ such that $C \subset V \subset D$. Hence $C = \bigcap_{k=1}^{\infty} (U_k \cap V) = \bigcap_{i=1}^{\infty} V_i$, where $V_i = \bigcap_{k=1}^{i} (U_k \cap V)$ (i = 1, 2, ...). $V_i \in \mathbf{U}$ (i = 1, 2, ...) according to 2 of Note 1. Further $V_i \subset V_{i+1}$ and $V_i \in \mathcal{N}_0$ (i = 1, 2, ...) according to (iv). Hence $C \in \mathbf{P}_1$ according to the second part of the proof of Lemma 2. Now apply Theorem 2.

Theorem 4. Let X, C, U, S satisfy the conditions V_1-V_6 and

V₈: To any $U \in V$ there are $C_k \in C$ (k = 1, 2, ...) such that $U = \bigcup_{k=1}^{\infty} C_k$. Let $\{N_n\}_{n=0}^{\infty}$ satisfy the conditions (i)—(v). Then $\mathbf{P} = \mathbf{S}$.

Proof. Let $U \in \mathbf{V}$ and $U = \bigcup_{k=1}^{\infty} C_k$, $C_k \in \mathbf{C}$ (k = 1, 2, ...). Evidently $U \in \mathcal{N}_0$. Put $D_i = \bigcup_{k=1}^{i} C_k$. Then $D_i \subset D_{i+1}$ and $D_i \in \mathbf{C}$ (i = 1, 2, ...) according to V_3 . Since $\mathbf{C} \subset \mathbf{P}_2$ and $U = \bigcup_{i=1}^{\infty} D_i$ we have $U \in \mathbf{P}_2$ according to Lemma 2. Hence P = S according to Theorem 2.

Finally, let us mention some applications.

Examples of spaces X and systems C, U, S satisfying the conditions $V_1 - V_6$ are, e. g. in [5], examples 1-5.

Hence let X, C, U, S satisfy the conditions $V_1 - V_6$. Let μ be a measure defined on S and finite on C. If $\mathcal{N}_n = \{E \in S : \mu(E) < 1/n\}$ for n = 2, ... and $\mathcal{N}_0 = \{E \in S : \mu(E) < \infty\}$ then the sequence $\{N_n\}_{n=0}^{\infty}$ satisfies the conditions (i) - (v). The condition $E \in \mathbf{P}_1$ is equivalent to the condition $\mu(E) = \inf \{\mu(U) : E \subset U \in \mathbf{U}\}$ and the condition $E \in \mathbf{P}_2$ is equivalent to the condition $\mu(E) = \sup \{\mu(C) : E \supset C \in \mathbf{C}\}.$

Hence Theorem 8 of paper [5] is a consequence of Theorem 2. Similarly Theorem 4 p. 198 of [2] is a consequence of Theorem 2. Namely it can be shown that she system I-VII of axioms of Theorem 4 of [2] is equivalent to the system V_1-V_6 (cf. Note 1).

The well-known theorem on regularity of Borel measure (theorem F of [1] p. 228) is a consequence of these theorems, as well as the assertion included in examples 3 and 4 of [5].

The theorem on the regularity of the Baire measure (theorem C of [1] p. 228) and Theorems 10 and 11 of [5] are consequences of Theorem 3.

Also Theorem 2 of paper [4] is a consequence of Theorem 2. If we put $\mathcal{N}_0 = \mathbf{S}$, then $\mathbf{P}_1 = \mathbf{R}_1$, $\mathbf{P}_2 = \mathbf{R}_2$. If $X = \langle 0, 1 \rangle$ and \mathbf{S} is the system of all Borel subsets of $\langle 0, 1 \rangle$, if \mathbf{C} is the system of all closed and \mathbf{U} the system of all open subsets of $\langle 0, 1 \rangle$, we get a special case of Theorem 2.

Let **m** be a vector-valued measure defined on **S** with values in a normed space, $|\mathbf{m}|$ be the variation of **m** (see [3]). Let $|\mathbf{m}|(C) < \infty$ for every $C \in \mathbf{C}$. Then the sequence $\{\mathscr{N}_n\}_{n=0}^{\infty}$ defined by the equalities $\mathscr{N}_0 = \{E \in \mathbf{S} : |\mathbf{m}|(E) < \infty\}$ and $\mathscr{N}_n = \{E \in \mathbf{S} : |\mathbf{m}|(E) < 1/n\}$ for $n = 1, 2, \ldots$ satisfies the conditions (i)—(v). If $\mathscr{N}_0 = \mathbf{S}$, then the equality $\mathbf{P} = \mathbf{S}$ implies the (**C**, **U**)-regularity of **m** on **S**, i. e. the following condition: If $A \in \mathbf{S}$ then to any $\varepsilon > 0$ there are $C \in \mathbf{C}$, $U \in \mathbf{U}$ such that $C \subset A \subset U$ and $|\mathbf{m}(B)| < \varepsilon$ for any $B \subset U - C$. Indeed, if $\mathscr{N}_0 = \mathbf{S}$, then $P_1 = \mathbf{R}_1$, $\mathbf{P}_2 = \mathbf{R}_2$. A set A is regular is and only if to any $\varepsilon > 0$ there are sets $C \in \mathbf{C}$ and $U \in \mathbf{U}$ such that $C \subset A \subset U$ and $|\mathbf{m}(B_1)| < \varepsilon$, $(\mathbf{m}(B_2)| < \varepsilon$ for any $B_1 \subset A - C$ and any $B_2 \subset U - A$. Our assertion follows from the inequality $|\mathbf{m}(B)| \leq |\mathbf{m}|(B)| \leq |\mathbf{m}|(B)|$ for any $B \in \mathbf{S}$.

If $\mathcal{N}_0 \neq S$ then P = S implies $S \cap \mathcal{N}_0 = P \cap \mathcal{N}_0 = R_1 \cap R_2$. Hence if $A \in S \cap R_2$ and the regularity of A can be shown similarly as in the previous case. As a corrolary of Theorems 3 and 4 we get the following theorem.

Theorem 5. Let X, C, U, S satisfy the assumptions $V_1 - V_6$ and V_7 , resp. V_8 . Let m be a vector-valued measure defined on S with values in a normed space such that $|\mathbf{m}|(C) < \infty$ for $C \in \mathbf{C}$. Then \mathbf{m} is (\mathbf{C}, \mathbf{U}) -regular on $\mathbf{S} \cap \mathcal{N}_0 = \{E \in \mathbf{S} : |\mathbf{m}|(E) < \infty\}$, i. e. for every $A \in \mathbf{S} \cap \mathcal{N}_0$ the following holds:

To any $\varepsilon > 0$ there are $C \in \mathbf{C}$, $U \in \mathbf{U}$ such that $C \subset A \subset U$ and for every $B \in \mathbf{S}$, $B \subset U - C$ we have $|\mathbf{m}(B)| < \varepsilon$.

REFERENCES

- [1] Halmos P. R., Measure Theory, New York 1950.
- [2] Berberian S. K., Measure and Integration, New York 1965.
- [3] Dinculeanu N., Vector Measures, Berlin 1966.
- [4] Riečan B., Abstract formulation of some theorems of measure theory, Mat. časop. 16 (1966), 268-273.
- [5] Riečanová Z., О регулярности меры, Mat. časop. 17 (1967), 38-47.
- [6] Neubrunn T., On an abstract formulation of absolute continuity and dominancy, Mat. časop. 19 (1969), 202-215.
- [7] Riečan B., Abstract formulation of some theorems of measure theory II, Mat. časop. 19 (1969), 138-144.

Received August 1, 1969

Katedra matematiky a deskriptívnej geometrie Elektrotechnickej fakulty Slovenskej vysokej školy technickej Bratisłava